_MATHS_
PREVIOUS YEAR

QUESTION PAPER




02 March 2022

05:30 PM to 07:30 PM

BANK ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

BANK ONLINE LIVE CLASS

(BANK PO & CLERK)

09 March 2022

10:30 AM to 12:30 PM

BANK ONLINE LIVE CLASS

03:00 PM to 05:00 PM

BANK ONLINE LIVE CLASS

05:30 PM to 07:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL

16 March 2022

BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

07:30 PM to 09:30 PM
SSC ONLINE LIVE CLASS

SSC ONLINE LIVE CLASS

BILINGUAL

POMING ONLINE BACHES
March 2022

23 March 2022

10:30 AM to 12:30 PM
BANK ONLINE LIVE CLASS

08:00 AM to 10:00 AM

SSC ONLINE LIVE CLASS

01:00 PM to 03:00 PM

SSC ONLINE LIVE CLASS

BILINGUAL

@ www.mahendras.org ) 7052477777/7052577777

30 March 2022

08:00 AM to 10:00 AM
BANK ONLINE LIVE CLASS

BANK ONLINE LIVE CLASS

10:30 AM to 12:30 PM

SSC ONLINE LIVE CLASS

BILINGUAL




/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

40% of 1640 + x = 35% of 980 + 150% of 850. Find the value of x.
1640 DT 40% + X = 980 DT 35% + 850 P 150% o | x I HIH JId DIoT |

HAS ) -



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

In a triangle ABC, the side BC is extended up to D. Such that CD = AC. If zZBAD
= 109° and £ACB = 72° then the value of ZABC is

IYST ABC H, Yol BC @I D d% 39 dvg fAriRd fbar §iar g fa ¢b = AC. Il
£BAD = 109° dUT LACB = 72° dl ZABC &1 HH [ 572

Y 1

a)
b)

HAS 3

o
o

Y



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

ax? — 7x + 1 =0, then find the value of x? + (1/a?x?).

ax2 —7x + 1 =0, dl x2 + (1/a2x?) 1 HH JTd Difo1U]

a) ) —2a)/a
b) ) —a)/a?

C) ) — 2a)/a?
HAS o .




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The area of a circular ring enclosed between two concentric circles is 286 cm?.
What are the radii of the two circles if their difference is 7 cm?

&l Yblad gl & did AU Ub JuldR 909 P &Ahd 286 a7 JH! g | &l <l |
Ereart 1 8, afe 39d did Siar 7 Il g2

a) cm, 7 cm
b) cm, 3 cm
C) cm, 5cm

d) nsen



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

ABCD is a cyclic quadrilateral whose diagonals intersect at P. If AB = BC, 2DBC
= 70° and «BAC = 30°, then the measure of 2PCD is:

ABCD U 9 1g IdHs © o1 [dh Ul Udh ¢ I P IR $Icd & | Ilc AB = BC,

=

+/DBC = 70° 3R ~BAC = 30°, dl zPCD &I {14 &:

CJ

HAS 0




MM};// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Akbar borrows some amount of money from a bank at the rate of 20% per annum compounded
annually and he pays back the amount by the end of three years in three equal installments of Rs.
21600. If he supposed to pay the interest after three years then what would be the loss bear by him?

PR TP §D T HI A 20% Ul T BT b A & Y FYR Tl ¢ 3R g <fi av & 3fc b el I
21600 . DI Tl TH fd=di H A BT YITAH BT ¢ 1 Ffe 98 A a9 & 918 SIS BT YT HAT 15l
g, A1 I fbeHi g1 o1 gl

a) 12564
b) 14424
C) 13824

d) 15264



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the least number when divided by 10, 14 and 42 leaves remainder 9 in
each case but completely divisible by 13

dg DI 9 @It 9T I1d PIVE f5 10, 14 3R 42 I fAYIoid 31 W UdD
[Rf o 9 Aywd &4 dfde g3 ave I 13 I [dUrsa gl

a) °
b) :

)
HAS g




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The area of a triangular plot having sides 12 m, 35 m and 37 m is equal to the
area of a rectangular field whose sides are in the ratio 7 : 3. The perimeter (in

m) of the field is:

12 |1, 35 I 3R 37 | Yol13{f ardd U AYSTHR UGS D1 &FdHhd Uh JHIAIDIR
HaH & &9hd & aRI6R g, Tl Yol 7 : 3 & 34rd H g | HalH &1 URATC

(HIeX H)
3 ) V10
b ) \5
C ) V5

d) V10



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If 9(a® + b?) + c? + 20 = 12(a + 2b), then the value of 4/6a + 9b + 2¢ is:
gfe 9(a? + b2) + ¢2 + 20 = 12(a + 2b), Al /6a + 9b + 2¢ BT AH 1 5?2

HAS i



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The price of a certain food items was raised by 12% in market. The consumption of the same food items
was decreased from 250 kgs to 200 kgs. By how much percent will expenditure on food item fall in the
market?

dIR ¥ fobdl {92y WG1e] a1y &l diHd 12% I ¢ g | 541 1€ Uard of Jud 250 fhur d gcdhr 200 fhur
gl 1T | |INR ¥ WIe] Uardf iR ooy fhd- ufderd 9 R sie?

3 ) 4%
b ) 44%
C ) 75%

4%



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If 2 tanx + 3 cotx = 5, then the value of 4 tan?x + 9 cot?x is:

gfd 2 tanx + 3 cotx = 5 . dl 4 tan2x + 9 cot2x & T ©-

HAS 3



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

Charu bought toffees at the rate of 5 per rupee. If Charu earned profits equal to 20%, then find the
selling price at which Charu must sell the 5 toffees.

IR= UId ¥UT 5 B DI &R I CIB] WRIGdl g1 16 I1F 20% & SRI6R arH HHIAT g, df 98 19ehy Jed I
HIford forg TR 91 &1 5 <ty dd-] difgU]|

a) 3.1.20
b) 5. 1.50

C) 5. 0.80
d) ..o




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A certain number of men can do a piece of work in 120 days. If there were 10 men more, the work can
be finished in 30 days less. Find the number of men initially.

~

oY P U (i T 120 fef T U Hri R bl ¢ | Al 10 3N 318 gId, dl PRI 30 fad H o
AT Bl Ydhdl ¢ | URIHD G| ol IR J1d Pifory|

)

2



@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If §A= /5% ofB=0.6 of C, then A: B: Cis:

afe 2 A=75% PTB = C H10.6, dl A: B: C BT 3UIC:

a) 4:5
b) 3:2

) .
0:4 5N




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

If 8 = 45°, then cos?0 + sec?B = ?

gfd 8 = 45° dl cos20 + sec2 = ?

HAS H



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

A trader gives successive discounts of 20%, 10% and 5% respectively. What is the overall discount?

Udh AR HHRT: 20%, 10% 3R 5% PI hifd J¢ odl o | IHY P HT 62

3 ) 1%
b) 6%

C) . 8%
HAS )




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Kunal completes a certain journey in 14 hours. He covers (1/4)th of the distance travel at 16 km/h and
the rest at 8 km/h. Find the total journey travelled by him.

DU UD IS I DI 14 °S T U= ST 61 98 1/4 3 16 [hH/ERT DI a3 3R Y &2 8 fdhHi/eer ol
T Y T DT g1 IUD GRT T D s Dl gl J1d DITor |

a) 8 km
b) 0 km
C) o

d) .



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If x +y+2z=4,x3+y3+2z3=87 and xyz = 21, then find the value of x2 + y? + z2 - Xy — yz — zx

g

[Gx+y+2=4,x3+y3+73=87 QT xyz=21%, A X2+ y2+ 22— xy - yZ - ZXx DPIHA I D

o |
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/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

The mean of the median, mode and range of the observations

$6,6,9,14,8,9,9, 8.

U&ull 6, 6, 9, 14, 8,9, 9, 8 DI HIILDI, dgdd 3R URIR DT HIST ©

a) ’
b) °
c) 3

d) s




@ mmd,// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

P is 4 times of Q. Q is how much percent less than P?

P,Q®I 4TIl Q, P I a1 Ul=id &H g°2

HAS 3




MW&// FOR MORE DISCOUNT VISIT Www.mahendras.org & USE PROMO CODE : E06321 /

The p“i‘““a:_ Qg?s”t_be'o":’tfpresegts ”‘fe GHTER GRT §YdR Pl §d U 3i3 P Y& & AR Pl §d
percentage distripution or the numoer o . ﬂ_@:ﬂ' ﬂﬁlﬁﬂ

eggs sold by a shopkeeper on different e \31?33f ol @f Ui Rlld |

days of a week. Find the ratio of the number of eggs sold by the shopkeeper

on Wednesday to that of the same on Thursday.

® Monday
® Tuesday
‘ ® Wednesday

Thursday a ) 5
m Friday
m Saturday b) 9
m Sunday C
) 7

d) s



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

What are the roots of the following equation: 4x? — 28x = - 48

FgfTRdd THIHRUT & Hal 1 o: 4x2 — 28X = - 48

a) ¢
b) 2
c) 5




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

How much will a sum of Rs 2500, invested at compound interest, amount to in 1 year
at 4% interest rate, interest compounded half-yearly?

2500 3UY Pi AR DT 1 T8 T 4% TS &2 WR [HYEH 1 BN, Od (< Iehgig sarel iR
fopa1 SIraT 8, sarel Sfedlitie =4 I Jyifed sidl g2

5. 2601
a)
p) 2656
C) s 2610
HA .




%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

If the heights of two triangles are in the ratio 3 : 2 and their bases are in the ratio
2 : 5, then what is the ratio of the areas of the two triangles?

gfc &l FAYSl 1 $Hdls 3: 2 @ HJUld H g IR 3b YR 2: 5 Urd 4 g, dl
Gl Al & &F%hd BT 3Urd 1 67

a) 2
b) 4
c) i:4




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Find the area of a trapezium whose parallel sides are 24 cm and 20 cm and the
distance between them is 15 cm.

Uh U IgUS DT &b AT DIoIT STt GHHIAR YSITU 24 JHT 3R 20 I
g 3R 3% §ld Pl g3l 15 Y4l 5

a) lowEP
b) sowe
C) 35 THI2

d) 30 JHI2



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

HCF of 2 numbers is 8 and LCM is 1248. If one of the numbers is 96 then, find
the other number.

2 RT3 T HgaH JHUG 8 3R dHTH JHUG 1248 ¢ | Al Udh AT 96 © dl
ORI AT 1 DI

a) ¢
b)
c) o




MM‘;// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The speed of two trains Aand B is in the ratio of 3 : 5. Train A leaves for point Q from
point P and after 2 hours train B leaves from point Q for point P. If PQ = 460 km and
both the trains meet after 5 hours after B starts then find the speed of train A.

ACAARBII A 3: 5% UId H g1 ¢ Afdg P fdg Q & fou el & 8RR

2Hd 2 °¢ & dlg ¢ B fig Q U fdg P & fou @adl g1 afd PQ = 460 fhdi § 3IRB &
G- & 5 ©¢ 918 &l ¢ a8, af o ADI T Jd HIfg|

a) ) km/hr

b) 5kminr

C) 5kmir
HAS ...




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

A child scored 75 marks in each of five subjects. What is the median marks
obtained by the child?

U §= - Ui A 8§ 9 ude § 75 3f® Ui (60| 92 & ¢RI U fhu U 3idh|
P AP FT B2

a) °
b) =
c)
d)




méamd,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A bag contains 20 P, 25 P, and 50 P coins in the ratio 7 : 6 : 5, amounting to Rs. 297.
Find the number coins of 25 P?

Uh FTH 7:6:5P UG H 20 U, 25 U 3R 50 U & g 1l g, foro! MR 297 7
25 U & [¥yep 1 T=AT J1d Difoid?

a) 0
b) 0
C) 0

0:45ER



%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

Yash started a cloth business with Rs 30000. After 2 months, Ravi joined the
business with Rs 25000, then find what would be the ratio of their profit at the
end of one year.

IR 9 30000 YT & 1Y U DhusI A9 Y= [hAl| 2 Hgl &1c, Id 25000 30
o 1Y aHrd | QAT gl 711, dl U ay o 3id J 3 1Yy ol 3{urd &1 gHTl|

a) 36
b) 25
C) - 25

d) -



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The sum of two digits of a number is 10. If the digits are interchanged, then its
value increases by 18. Find the number.

&l 3B DI GBAT & 3D BT ANT 10 g | Iie 3ihT DI YR dad [¢d] ST dl 3@
qE H 18 @I gl gl SId! g1 dl dg IR I1d Pifoiu |

a) ©
b)
c) .

d)



%déeamd/// FOR MORE DISCOUNT VISIT WwWw.mahendras.org & USE PROMO CODE : E06321 /

The length and breadth of a rectangle is 8 cm and 3 cm. If breadth is doubled
and length is halved. Find the difference of perimeter.

U 1A Bl ey 3R ASTs 8 AT 31k 3 Tl ¢ afe =isTs aNIHT 31k darg sielt
gl Sirdl o | URHATY &1 3{dR I1d BT

a) -
b)
C)
d) .




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 |/

A sum of money when invested at compound interest for 3 years becomes 4 times of
itself. In how many years, the same sum will be 16 times of itself?

3 A & U Iehglg oarel UR ! A &1 (a9 fobt o4 IR 98 3191 4 71 81 Slell 6|
fopa-1 aul o, gt AT U1 16 A1 Bl SIIET 2

a)
b)
C)
d)

HAS



/@ %aéWa,// FOR MORE DISCOUNT VISIT WwWWw.mahendras.org & USE PROMO CODE : E06321 /

If a number 2N18M is divisible by 72, then what should be the value of M - N?

gfe U T=A1 2N18M. 72 T fqUTsT §, dd M - N &1 AT 91 54T 91igu?

HAS

a)
b)
C)
d)



/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

With an offer of “Buy 5 Get 2 free”, What is the net discount percentage given
by the salesman?

"5 @l WG W 2 GUd" @ 3B W, faehdl gRI &l 7T Y ¢ D Uld=Id Dl A1d

DIfSTU|

a) o
b) sex
C)
d) o




%aéexghga,// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

The perimeter and the length of one of the diagonals of a rhrombus is 34 cm and
8 cm respectively. Find the length of its other diagonal (in cm).

U GH FgHel HT IRATY 1R 3G f[dauil # J U fapmul ot g HA: 34 GHI
3R 8 THI g | ITd 3 Gl (FH! H) DI TTs J1d HIford |

a) °
b)
c) =
d) .
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The sum of two numbers is 60 whereas HCF and LCM of the numbers are 12 and 72
respectively. Find the sum of reciprocal of these numbers.

3 T=A131 BT AT 60 § Sai @13 Dl Heud JHUdq® SR Tgqd JHUdd® DH:
12 3R 72 B 31 =131 & ogehbd I AN 1A Difoil |

a) °
b) 72
c) >

0:45 KR




mwb// FOR MORE DISCOUNT VISIT www.mahendras.org & USe PROMO CODE : E06321 /

A Shop keeper sells ice cream at a profit of 10%. If he had bought at 5% less and
sold at Rs. 8 more, he would have gained 20%. What is the cost price of the
icecream?

U GHMHER TS EHDIH DI 10% I A TR &l o1 afc 98 39 5% ©H T TG IR
8 3L H(¥b GR &, Al 3 20% DI ATH BIdl §| SSUDHIH PI Hd el [ 57

a) 03y
b) oz@
C) 0 30y
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